[JSPORTSHvY 7] 4—vXY—F%v F2022EMKE

of 4% 5H4~5H

l-2ib—F XV F SA4—vZH—%y FEEBEES
3 AFZ 3 ) 0 EHax LA 4 | E+tEiRIT 0 - 3 NTTEE B4
] 21 - 4 R 13 - 21
b1 JF RIRTF 5 ” 6 0 = OLE D1 EH KE 0 s ” 5 ;AR BE|
SH FTF NG S AR Ei FOLHES
NS s Bl DR e B oA X R
D2 T 2 21 - 14 0 i o D2 ! ) 0 18 - 21 2 oo
2 BE OIBTF mF =30 BEE ¥
21 - 18 21 - 17
S1 =) fESR 2 21 - 11 0 A =T S1 28 XR 0 16 - 21 2 R RE
- % - 21
S2 AN - - R DE S2 A BB - KFE O
S3 L2 S - IR ETE S3 JAL S —-3 - mER KRB
N BAEERERT
5 Axv IR 3 - 2 ACT SAIKYO 6 BIPROGY 1 - 3 ,7F
JLARERIT
21 - 8 21 - 16
o1 BA 7 5 " " 0 EH OEZT o1 K1 28 5 b ” 1 ;S R
RE ¥E K BER BiE =& a " 'R #HEt
13 - 21 18 - 21
- = BR 5 ” 2 1 MR AHE - E T 1 " 0 5 2R EiE
BiE BAE i 2 BE KE 5 ) IR0 B
21 - 16 14 - 21
21 - 19 18 - 21
S1 AN B 1 17 - 21 2 KiE BE S1 2l & 0 14 - 21 2 L% NI S
15 - 21 -
20 - 22 17 - 21
S2 BiE BHEHE 0 17 - 21 2 mEE E S2 Fil RN 0 13 - 21 2 £E EK
21 - 3 -
S3 ke & 2 21 - 15 0 7. S3 BB EE - He R
) ) AR
11 peh 3 -0 NREAEES 12| 3xvsz 3 -0 h
L A&BIRIT
A 21 - 7 21 - 10 o
D1 F RIRF 5 ’ " 0 e HnH b1 [z RS 2 ” L0 0 N TR
SH FTF BEE ¥ = BE w/A EHEEL
7 - 21 ] i B 16 - 21
AN KF OB R ¥E ZIR EiE
D2 B 2 21 - 15 1 . D2 | 2 21 - 16 1 .
2N ES # WER =5 BEE TEO BE
21 - 17 21 - 15
21 - 13 21 - 18
S1 i - 2 21 - 16 0 KHE Y S1 b N T | 2 6 - 21 1 SE EF
- 21 - 11
S2 = ER - FE KB S2 BEiE BHHZE - % N
S3 FEZ NS - EE KE S3 =k FE - He R




13 F&xILE t+tEiRIT 14 | ACT SAIKYO BIPROGY
21 12 - 18 21
B2E LE Bt 2 MR HE KT 28
D1 21 16 D1 . 21 16
NS REE [EIE = KE BE o " e =&
14 21 18 21
- EE BT " " BE BHE - | EZ " " E T%
Bt v EF) KE Ng =m KE S
18 21 21 17
S1 IR BT 21 16 A BB S1 TR X 13 21 Fi KM
11 21 21 8
21 19 19 21
S2 B DE 7 21 2B R S2 ANE FAL 12 21 2l &E
16 21
21 21
S3 HA EF N I7zE S3 RO 17 21 Bt =&
13 9
. - BARRIER
19 42 EES P 20 | NTTEHEA -
JLERERIT
21 10 R N 24 22
o1 NF BHRT s ’1 =H BE b1 F DHR a M BIR B
SH AT » ’1 RR ¥E Xt BE IBEO BE
1 12 21
| e . 13 wE B7 | me s oo N R
Zr B BHEE BEE ¥ 5 o 'R EEt
22 20 21 18
S1 = ES 21 11 AK B S1 hEr KB 16 21 bz N )
10 21
17 21 21 8
S2 N - S 11 21 55 BPBHE S2 ER RE 21 16 SE =%
7 21
S3 24 mE 13 21 £ FE S3 | &#F vsY B R
21 | E+LEiRIT BIPROGY 22 F&xRLH ACT SAIKYO
13 21 16 21 X
D1 EfE #HE 6 ’1 BiE =E b1 B D 5 o1 HH EZT
£FH] K KT 28 E=FE OLE KiE EXR
9 21 16 21
- e #EfR 5 ’1 E T - B BT 6 o MR AE
=R A KE =5 Bt o Z Bx
21 16 11 21
S1 28 R 7 21 2l & S1 R EFE 18 21 N
21 18
11 21 12 21
S2 JIg 37z 21 17 il R S2 A E=EF 21 18 7N
8 21 3 4
S3 AN EERR B E&E S3 IR BT wE OE




